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9" General Mathematics
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% D C B A Questions /| Uiy A E
E 200 20 120 12 e 20% 600 | E
E 20% of 600 is: :
: 7 2 L 7 S ET0% |, | S
E / ﬂ Fraction form of 70% 1s: E
= RN =
= S Jaed ~ :
= 20% 20 35 35% . 3 :
- — 1n terms of percentage 1s: =
20
o ]
= . 33% 1% 3% 1 4 | 2
= 3 in terms of percentage 1S: =
E /(' . 2 . E
= 10% 13% 30 13 9\% GPLA013 | o | S
= 0.13 as pefb/entage is: =
E U.L../J) hi-";[‘fg deﬁl gWI (\{i\\o (.u_?alj’f’(u " uﬁ q b 6 g
: Mean Consequent | Antecedent | Extreme {&Zﬁﬁ ratio a:b, “a” 1s called: =
E ﬂi[(f"g U,L(‘JJ deéé'! &Iﬁf‘f}i \;\Lé’/ ?uzgg’(nbnu:a:b . E
—_ b2 E
= Consequent Mean Antecedent E)gt”(gﬁ}e In aratio a:b, “b” 1s called: =
E n-“"-*fi}l/ujg %jdﬁj’i’ d,:b,j ﬂ{,ﬁ\/\ é”) ?uz'é{g’(ndnﬂ'n nuﬁwaa b2 & o q E
E Consequents | Antecedents MeengﬂQ5 Extremes | In a proportion a:b::c:d, a and b are called: g
% M’jd‘j%" "b"“;/‘fg }W L ?U.?:d—/gf”c”;l"b"ufur"l:'fe(a:b::c:d 9 E
= | Antecedents | Consequents \ﬁxtremes Means In a proportiona:b::c:d, b and c are called: -
E 17:15 19:15 15:19 15:17 ?egf’quﬁ:QS 10 E
- Lowest form of 75:95 is: =
@SR )
E D C B A Questions | <=y - /’ g
= 475 450 430 400 30% €150 | | | S
= 30% of 1500 is: =
E - > > L Lo 15% |, | E
E 20 20 10 10 Fraction form of 15% is: g
N
= 31% 30% 29% 28% . 3 =
= Y in terms of percentage 1s: =
2
: 71% 69% 67% 60% PRI 3| 4 =
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_ ™y |
g%EkcIty,org 3 in terms of percentage is:
29.7% 29.5% 29% 2.9% | WSS w3029 |
0.29 as percentage 1s:
: 2
:;51_4_/ﬁ:JL;)L#‘l ?5; 'ég'
9:10 10:9 5:3 3:5 )3 6
The simplest form of L g 1S:
23l P d/ &fU Q?'J"’QJKUL"‘//M(} -
Urdu Persian Arabic Latin The word "+#3" is of which language?
e s e u¥ e urég =y :4;-__?15/{,;,4& .
Outoften | ,ouvtof | Qutoffve | Qutol ) p. o 0 eans:
hundred hundred thousand '
/ % $ & | | e dedUeiierd Lasd 9
Which symbol 1s used for percentage?
te s & Lt - QL T1%850
12% 18% 39% 29% 71% of the EanLh\s surface is water. What is the | 10
percentage Oﬂéngb
P .
(O)V - P 5
< (}{5 . .;i:_.(_s.E{TL,Jt‘*’”‘g..a“'[JiFséi[.-££::-u.-ﬁf'"J :l_]l
Ilj“ezs\)% ol for ratio 1s:
deadig | |, x| werer o
KIS LS | T ~ f\f/ BT n LI us 2 3G L nto KR J 50 ]
LI Cu.?é-/ o t{«fgo \S ) e L L8 ek | 12
Do nothing onvert Divide VI the two quantities 1n comparison are not in the
them 1n the /\ them by . L .
. them by ten\ N same units, then to find their ratio, we:
same units A\~ hundred
S\ :
b (‘R(§“§§/ g?_.labzﬁ s = A Zbuslays/) s
a>Db N \pra g b The ratio between two quantities a and b will be | 13
written as:
. . ¢ = ALy a1 ot z o
J../d o = — A . U:éf.f{k 'féu,;.l:/u’pugdbuzgfd:.f 14
Subtraction | Addition Ratio Proportion e RSN 7 o/ i i
units 1s called:
f‘.;ﬁ) M(} M ﬁ../l:? :GL;.JMJ,:I,{U'L(U:&:UQ‘J” 15
Division Percentage Ratio Proportion | The equality of two ratios 1s known as:
B, C Us» _ skt | g6
Both B, C The symbol of proportion 1s:
2y gnu:;r@d/»,iuuuﬁ..gutu"yuﬂtuyﬂéu;‘?»
- - b‘: . . .
/;(/;1 J — =l U e bl o A Sl e
SO Compm:md Dir ect Invers‘e The relationship between two ratios in which 1]
Proportion Proportion | Proportion | Proportion increase in one quantity causes a proportional
increase 1n the other quantity 1s called:
J /"-:“' L . . . i ,
Un- ' h‘:“’“'b'*.."(/ =it U”a“-:"”b‘ d/uc:.ﬁ.#l:fdljuvluﬁ;lﬁ'.{luﬁu)*y LI s s
Compound Direct Inverse | 18
common p : : . :a.l‘.“M/rZ:..MLKd/ o sl 43
. roportion | Proportion | Proportion =
Proportion
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E The relationship between two ratios 1n which E
: Increase 1n one quantity causes a proportional :
E decrease 1n the other quantity 1s called: E
E — —ts el U a2, > L Un ol e sl E
E Pro ' R T, Compound Direct Inverse The relationship between two or more proportions | 19 =
= P Proportion | Proportion | Proportion | is known as: E
E W E
: (S D)2 00 / 54 :2“7’!! !
E o, wd g
IRCY-L
§ D C B A Ggiﬁtions | el 2N
= N\ 4 s % =
= 5.5% 4.5% 3.5% 2.5% . © e dne L AU | | S
= Zakat-is deducted at a rate of: S
= <2 NA D ) . " 2 L7 . s o E
LY oy 20056 2 o S S et s
= /C{f r. o . =
§ — 10% 5% 2.5 %f\f/l)idn a crop produced on natural resources, Ushr 1s 2 g
- 7\ | deducted at a rate of: =
= N\ o (% s .7 s ; =
2{ e VLA (S T2 Puss
E 235% 2.5% 10% ﬂ\i 1;5,\20 2% On a crop produced on artificial resources Ushr 1s 3 g
E ,«.ﬁ\g& j deducted at the rate of: =
= | &+15000 | &+.2000 ,z{éi\so)oo £22500 fe V3344 2,1,00,000 | 4 | £
§ Rs. 15000 Rs. 2000 Rs? 25000 Rs. 2500 | Zakat on an amount of Rs. 100,000 1s: g
U3 Z 1o 001,50,000 BAP st F S5
E 2?_:;20000 2 15000 c;_uSOOO 3 10000 ¢ 5 g
E Rs. 20000 Rs. 15000 Rs. 5000 Rs. 10000 | yshr on a wheat crop produced on natural E
- resources amounting Rs. 1,50,000 1s: §
E l — l l ?%mu:dﬁ)ﬁrd/)ﬂjl).ﬂ’u:;l,flf[}fwguf 6 E
E - 3 8 4 The share of a widow 1n 1nherited property 1s: §
E n“"’.lz‘(u: Lj’ﬁf'/:;d/w;lmQ/(LJ)’JTQEJUJIuf.::.ﬁ‘w Ka:j E
= | - ! ! 1 | 5 |
= ° : : 4 The share of a widow 1n the presence of a child or -
= agnatic grand child 1s: =
Gt Gor 513/ Gghin e 34 S b1/ Gkl
E I 1 1 1 Wul 26 | 8 E
§ . i 0 4 If there 1s only a single daughter or an agnatic E
E granddaughter, her share 1s fixed: s
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d/(j'i;/ J;f L1 s O)/di.- i f JT[:LU.I:";/ UGyl |
I 1 1 % ?Kﬁg,ﬁ(ulu:fmr 0
3 - 4 L} If there are two or more than two daughters or one
agnatic granddaughter then their share i1s:
1 1 1 1 1 1 1 1 cgﬁg.ﬂ?KC);LJ:}’,&;L?JTQJ:J;,K}”JJiJJI&tug
. S prog o 2’6 If there is one daughter and agnatic | 10
2 8 2 4 2 3 6 . .
granddaughters, their share are respectively:
(U360 2 3L
D C B A Questions /| =iy Y-
£25000 | £525000 | £220000 | &22000 Jnd 638042 2,2,00,000 |
Rs. 5000 Rs. 25000 Rs. 20000 Rs. 2000 | Zakat on an amount of 2,00,000 is:
£15000 | £w100 | 410000 | 4w1000 | < ”""’i“‘fof;; =t £10% -+ 11’%%%%% ,
Rs.15000 | Rs.100 | Rs.10000 | Rs.1000 (|- >' 7 @ rate of T on amount of 5. %00
:%MJJUWL&JM%J::}%UJ
13 3:1 2:1 [:2 The share of son and daughter in an inherited | 3
property 1s u;(t;hé\ t10
Jlg Uf. %) _{l 19\ ?:;;.J@ﬁﬂé&m{fu;csﬂ 4
Four Three Two One ZM\Q paid on how many types of wealth?
. Jys§ G R/
é"—:f &? J:)d/:lb _,J,;d/-tb/ ”C:/) :ugoﬂ;;ﬂ;;:djlf;by 5
Savin Profit £xposad Unexpo@ad\\ Gold, silver, cash money etc. are: |
S Wealth qu}ﬁh;v » SLVET, y elc. are.
= 83" =l A ~ /\% QU/'U: :UEaA;3UL/(r¢53IrULVJJJ 6
Savin Profit Unexposed{ ) Exposed Agricultural goods, camels, goats etc. are:
S We/akﬂ;l\ Wealth 5 5 ” 8 e
L0V R :
Insurance Premium Ushr 7 akat € amount paid on agricultural products 1S
called:
g RARAT X
aépakcﬂy org%ﬂ Ak B
ol
(uﬂlfdl’i’ UI/LK)
Answers | <oUz Questions | =y A
SP < CP SP =CP Profit 1s earned when:
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AEH o | g ssped>aied |
= | None of these SP > CP =
= | SP>CP SP=CP : ﬁ‘f_vﬁuu‘ﬁ . §
E Sl = od O R D =3y < 4 C Loss 1s there when: E
= x 100 =
E 4;17&{_’ B ,g]:,f A E
g Profit <100 Pr ofit “ o o ﬂ E
= CP CP WSy el > ,.g,?:a»j/lérﬁ” % 3 E
% 100x=3s /= ¢f¢§x(fj Profit % =7 Where SP > CP: %
E 100+438 | D 100 | ¢ §
= 100 SP CP x Profit% E
= | 100+ Profit% 100 :
E 100 +,w&€ o E
= — X &7 ok . ) f\ =
= | (100+ Profit% Profit — CP 1 9\ E
= 100 \ Ve el < J:/J/ép""‘.m/uﬁ 4 s
E i - . o ‘2 q P P E
= Ged e P ) /Z@@ ‘where SP > C :
= 5 3 '\\f ~ E
= 100 D 47 ek — U/ﬁ \\f =
= CP + Profit% CP — Loss o~ (9 =
- 100 20 53 =
= AN S " ~ 4l E
= (\&mgﬁwﬁ/ = =
-~ G i B A = =
= | lossoP 100x SP §
: 100+ Profit% mpied| |
E eftusss | D =Llogiy + A C E
E Discount x 100 MP + Discount E
= MP §
= (:..,myq&"‘m /,?‘/ Alor) %
E t ¢ B A Questions /| =y - %
% - ét? i/ e The pri hich :?Q{L%dﬁiéd[éu;&éz 1 E
- Loss Profit Sode Priee || ContPrige | -7 FHEG L SlCE & UOCOIN SRS0-58 PICnEs =
= 1s called: =
= Loss Profit Sale Price | Cost Price | The price at which an article 1s sold out 1s called: =
E S S e 9 ... g P -
= wd[ g — P AT R A S 47:;-{3JJ1_*;.> /;u.fd/“o)/j/[ 3 =
= Profit, Loss Loss Profit : il : 7z :
.
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None of If the selling price of an article 1s greater than its
these cost price then it 1s:
< s g C;u :gﬁ:;ﬁf/c.ﬁj:;gd/u’l.:ﬁj/'&gd/gnffﬁ
- 3 ; —— . If the selling price of an article is less than its cost | 4
Premium Saving Loss Profit : "l
price then 1t 1s:
JJ/L/J:‘;K/:.J@J%@LJ)Joﬂ.-pﬁ;)leﬁj
T C” = 4 >N 5
Premium Profit Saving Discount | A deduction otfered on the marked price or the list
price of goods by the seller to the purchaser i1s
called:
) :u}:d.//d;ﬂg:(;l:y(ugLJ}J&J/JLJ?MQ}L”&»
g U8 S b G2 An association of two or more persons to carryon | ¢
Brotherhood | Partnership | Capitalism | Friendship | a business for the purpose of making profit is
called:
PAQAQAQE @AY
A\
oD
AL \\\O
O L
M/
5L l\@ 4|
pakcity. org /L T b
o, Y
9 @ U EF)

D C QQ«\@ A Questions /| <y V-

K'fg PR ‘:d/c:_mgd;l;éwlfﬂd@ﬂz;,@éwﬁjlKC)JHQ:
]Lf-li"*r f" ..i»;ljjug‘; ._:% jjjT% o 1

ill o ’ -

exchange Bank Draft Cheque Pay Order | Ap instrument for payment order issued by a bank
on the request of its customer is called:
5 1 L o BE ST AL |
The person or entity whose insurance i1s being
Lessee Drawer Insured Insurer .
done 1s called the:
U"‘!Eg,)";f"l UJ 3 v e UETJLI%.JLW?ZT}KJLU’JJP’YUEJ
& J A/ 44
Insurance The company undertaking the act of insurance 1s 3
: Insurance Insured Insurer
Policy called:
i | e | o | a | wEedbens]
Markup | - 1 T — L — | € periodic 1nstallment to be paid by the 1nsure
1s called:

C S =4 AL P wiuiriﬁpuéufﬂg@wg 5
Profit Bonus Premium Markup aS.e return earned by the bank on loan 1S name
7‘JL ﬁ{' A ('j_b‘ :ug‘:ia.la.t'/‘/l;l;m._.@/f;&@/g 6

Markup Premium Bonus Profit ‘ '
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The amount which 1s paid by the bank on the
deposits is called:

=R (I S/ O

o > (v ~  |Tn f profit/markup charged is | 7
Principal - Tie -~ € I?ercentage of profit/markup charged 1is
called:
Jﬁ)jig @3;’ /’;C ;{{ | | ;.dwcf__dﬂ;i/.ﬂf;ﬂiufufdéuﬁug
Card A machine installed by the bank to dispense cash S
ATM Scanner Computer .
Reader to customer 1s called an:
[@ug;mJiG‘,;:L/Jﬂm[_lﬂﬁ:_/%u”ﬂyygﬁg}!);;
LAk Sl ;,?;Tzr \_49 :é't*Mﬁ 0
Bank Draft Exchange Pay Order Cheque A bill of exchange drawn on a SpﬁCiﬁed banker
and not expressed to be payable otherwise then on
demand 1s called:
(U 36 01 2 3L
D C B A Questions /| <y -
..,:J._,CL el Y < b '¢t'M,,:w;€f 5@!/@7‘1,&; 1
Markup Premium Rate Time The period of thg\ Lpan or deposit 1s called the:
oLl ziwfuifsﬁ;.mw_;.a/ Siskled G 12 Ao K¥_EE:
(f'”.g’ L, uCC:J// ﬁGL \//'\}\ O c:.L Lbﬂfdb/c:..:_)._«l.wuﬁ 2
Insurance Premj.um Cornme;r cial Marketing \'\bj& ing business which 1s related to the
Banking Al \i/): epting of deposits, advancing loans and
/\\\J ~ undertakes other services for its clients 1s called:
. 70> ; P . Y
1981082 (198202 198188/ PJ“W))’? :ﬂb/d;lﬁ‘fiﬁfguﬁf‘/y?d/:ﬂ;u:uw,z:lg uﬁub@
January January February . Q\ d\ar}/uary In Pakistan, the profit and loss sharing (PLS) 3
1981 1982 198 Lﬁgﬂ\ I~ 1980 saving account was introduced in:
. \ ~
b 2% ol /la " N . .
“’{'U{/u’b =561 fp “’M 25l S e b 5 bd LA LS S F
Foreign . A ° - 4
Saving 1xed Current An account opened for foreign -currency
Currency W _
Account Account Account | transactions 1s called:
Account
Automatic | Automated | Automatic | Automated
Transaction Teller Teller Transaction "?'JKJATM S
Machine Machine Machine Machine | ATM stands for:
2y sy f/);‘& 15 :?.rtg&/&::w/, 6
Euro Rupiah our Dollar The currency of United Kingdom 1is:
Sterling
ks _!. N
974 sy, p d"" & :.;.(LKU)/JJ/': -
Euro Rupiah out Dollar The currency of America is:
Sterling
&51 <4 P ey .?.rLKUJ/Ji;JJl; 8
Ringgit Baht Peso Rupiah The currency of Thailand is:
LS oLy o &aj,f %rL(u)/J.l;flL 0
Baht Rupiah Peso Ringgit The currency of Malaysia 1s:
&«;f'; " ¥ 3 :‘.:;.rbKoJ/JE'}'JEI 10
Ringgit Baht Peso Rupiah The currency of Indonesia 1s:
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ey, ¥ bjz <A ;;_rLKoJ/JJL_,b 11
Rupiah Peso Ringgit Baht The currency of Philippine 1s:
&f} <\ S/lbdjzb /’ljd':/l ‘ﬂa.rLKJ’/(ngéﬂ 12
Ringgit Baht 15%53)231‘6 US Dollar | The currency of Singapore is:
< Ti“f’l' 81;,. S LVMYMJQWJ/)?#L//K 13
Premium Markup Profit Principal | The amount/capital borrowed or lent 1s called:
<, s ) (}":’EU’JJFJI M/g | :.f_.li‘LL:G:%.t'ﬁwa'ﬁuyﬂLUfJgn 4
N Insurance The contract which i1s executed between two
Premium Insured , Agreement L.
Policy parties 1s called:
3 P FL“' d’jku)n"’l :Lt'Mu}’fdé'Ju;ﬂL}:’J/.{}ﬂlJ').&{Ueﬁaiﬂ}
¥ h-'!’-f.n‘ s ‘ ~
3 : Insurance | The time period agreed upon by both the parties | 13
Maturity Time Rate . : . .
Policy (insured and 1nsurer) 1s called:
@)
<\3 %
<\ \-.) e >
(....,;ug i /..:J’ 5
f"%’" s 3
D C B <0) Questions /| «Uis -y 4
q PR
<3\> »::Lmz:iJU'LdVU’JUJU:/fLJdeA!ifzu
Income Tax Property s Duty P o Money_that must be paid to tt{e state charged as 1
Tax proportion of income and profit added to cost of
some goods and services 1s called a:
Jr’;uﬁfJa/fw'g;lg’t?;Jgfi,;c‘jtwm;l,gtg:&ﬂgu’gn
0 s o Nl S el S L et 5
Tazome Tax Property Direct Tax Tax The taxes w_fhich are charged on income, property
Tax and profits in the form of income tax, property tax
and profits etc. 1s called:
7 Foge | g | S F PSS St oty
b/, - " ; :5
Income Tax Property Direct Tax | Indirect Tax Taxes of the form of duties, motor vehicle taxes
Tax are called:
s | A6 | x| A e eedias
; The tax in addition to the price of the article 1s 4
Excise Duty | Income Tax | Sales Tax Tax called:
b ,,, b ﬁ it it E 2 L aten L, 2GS
J"C * Jg H/' J‘E Sy37LES The form of a tax which a buyer pays on a | 35
Sales Tax | Income Tax Tax Excise Duty | manufactured item at the time of purchase is

called:
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JL? . uﬁ JG : J?(j‘;l/“ :u}é':,(a..la.t‘bgsz__ﬁtémxakiﬁgr/frc}:}ﬁu’gu
“ ol * il s “ (:l 2. " v
. : Property | The tax charged on the owner of a land, house flats 6
Indirect Tax | Direct Tax | Income Tax e -
Tax or building 1s called:
(ji.?'/" L J‘g H'/' J‘g =l u’g b3 ™ h ?bm}ﬁvt‘fgédj lelg J:GruﬁJg.M 7
Excise Duty | Income Tax | Direct Tax Sales Tax cal(laectlflx charged on all the faxable Income 1S
PR
D C B A Questions /| <l Y= /’
1,15,000 _ JE T FE15% F5e2s6,00,000 uT 2t 28 1]
o d?_,u 1}30000 }J_i 90, 000 2/ 80, 000 14 ,«;Jg (5] 1
. g .
Rs. 1.00.000 Rs. 90,000 | Rs. 80,000 | If the annual value of a flat is Rs. 6,00,000. Then
1,15,000 the tax payable at a rate of 15% is:
L0 3t 2810% Lo £ed e 12000
_%3;1200 d?_ul 100 3/ 1000 %3/900 o€ v y
Rs. 1200 Rs. 1100 Rs. 1000 Rs. 900 The value added tax at the rate of 10% at the
marked price of g—;;levmon of Rs. 12000 1s:
4,65,000 4,60,000 4,52,000 4,50,000 /Qy .
L L L Qd/}’d_udg% 1*:::..6/3&/150% /ﬁ:Jd_u 3,00,000
3 3 3 3 .
I; ’ I“{ ’ fl ’ = The e ﬁ uty at rate of 150%, one has to pay 3
S- S S Rs. @n n amount of Rs. 3,00,000 is:
4,65,000 4,60,000 4,52,000 4,50, 000 P S\
K A
W
&8 \/7@ \‘}
¢ ‘.‘1 N ¢ ¢
-‘x* P
\““xﬁhfb o, o0 6o
P8 é (.:..fﬂlr(,}(? Ul /ff 8
S5 A
D C B A Questions | <y .
N
u&é‘d s bR )ﬁqbb/f Jﬁ.g}bt g%}ﬁqﬁ
Intecer Natural Irrational Rational Laplll /o 1
S Number Number Number i |
s Rm.ul’t | i /4 sl U1 5
t ; = .

Integer N?.lrll?ll:;lear Radicand Radical 37 is called:

Q18 )ﬁéf 7y J 4o ?u.?%f,lf(/'ﬁ % \/§
b Int Radicand Radical | In</3. 3 is called: )
Number eger adican adica , 3 1s called:

KU ey 7y Jae ?Ufznfy/fn J-a 4

Base Exponent Radicand Radical Ina”, nis called:

. )ﬂé’i Vs JU ?u.?'jcfkffﬁluif 5
Radical Integer Exponent Base In4’, 4 is called:
. Ju; - L,J:‘" - Z
e £JS ¥ i gL KL LS SE0u | 6
e Characteristic /J .4 Mantissa il /J L0

Please visit for more data at: www.pakcity.org

:}/:IIIIIIII HHIHHEE

=y rrrymrrrmmrmmmmmnmmmmunnnymm



i

e LU O L

Oth G.Math Solved MCQs

WWW.PIakCIt

Natural Common The logarithm calculated to the base “10” 1s
Number Logarithm called:
ppd‘?? o lls 2] " G . " ?U}f‘.é{g[,ﬁ?i)_l;b;éiuffzgé)ﬁq( ;
Real Part | Decimal Part | Mantissa | Characteristic caliecel' Opariiim ol 4 mymbec e tegrs pan 18
. Py . Cute P K
il RM‘UBL 1 o - In the logarithm of ﬁiﬁ/yg/;wfjgfé)ﬁq( 8
Real Part ationa Manfissa | Characteristic the logarithm of a number the decimal part is
Number called:
::!,;ii :2r}€£ 2 ZEFE '\/ “\/{iif — 9 ff)
=R <40 i;..:ﬁg?’li .:;_)ﬁg}!’t/;; :U..('z'l"\/gj’{‘}-wf*:?‘—g\/z"'\/g 10
Radical Integer Rational Irrational \/2 +/3 is not radical. because 2 +4/3 is:
(= U1 36" U -4
D C B A Questions | Uiy Y-
e J?Z.'/:("{/_ ?’rm&bta .éﬁ)ﬁ&btﬁé Q/g/fl
Wy Lajgtfﬁl *Jjugg;' ‘Lj%? ﬂq/r-l e a: : : j&}(-- ]l
Exponent Base Radicand Radical If v/a 1s 1rrational, where 1s rational, theni/a
is called: . (O\
5 (<27 o
Yy J U Iys Ao Q\ 034—(1(‘\/_ =Ll 5
Exponent Base Radicand Radical Ihe@%;ﬁ& J_ is called
5 RO
.u&éf )ﬁ_dbt J s y /9% :uj‘:é/S o3
Integer Rational Base ExponsaisS| In3°, 5 is called the: ’
& Number BW/};\\) n3, 5 1s called the:
JZ;J' jfwla e {A}E\ %&;ﬁ: ?gJQ'LJ(JL?FJ%J 4
% ; N CIry - 9
Khawarzmi Jobst Burgi | John § ?%%r\ ) Bfiggs Who prepared the logarithm table”
. KW >
; _ N\ ! -
d:i};l Saite \?Bulﬂ ;Iﬁcd/-.:: FLELS e 2100 |
- . enry . 5
Khawarzmi Jobst Burgi | John Napier Briges Who prepared the tables with base 10
d:i}' Srie A f{/‘wﬁ: WL et I | g
- .. . enry - . .
Khawarzmi Jobst Burgi | John Napier Briges Who prepared the anti-logarithm table*
Jd iy £ /7 S, Ve b ot |
Switzerland | America Ukraine Finland Jobst Burgi belonged to which country?
IIICIOW

L+ (,}/"""ng‘j‘3 =y

e
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E o v &% E
(U 3& 025
% D C B A Questions | Ui A E
§ Ce P52 _ -
E O 9 Q 3 | /‘.L.-“ KJd/'td/an +1n 3 1 §
= Third term of a_ +n =3, whenn =01s: =
= - I =
: e VP 20 a, = =
= 1 1 1 T q0a, (2n —1)° =
E ’ 81 49 7 1 2| S
= ° — L Fourth term of a_ = —~, whenn =01s: =
= (2n-1) =
E Ce fod ; =
= 22 21 30) 24 | %—.%(J“JaSJZ,@lLU,... 3 :
= For2,6,11,17,..., a.is: =
S 317 31 20 34 ?f;g’ﬁjtﬁu: 12,16,21,27 | :
= Next term of 12,16,21,27 is: =
: S | =
E 20 ﬁ 19 3 | <X d, u{3,7,11, 5 E
= a.of 3,7,11,...1s: =
S b3t 343 4143
= 43 NE 5\3 23 TH ” 6 =
= AM betw,eet%\f%nd 3\/_ 3 1s: =
& T,
= L~ 2‘\/_ | 6'\/_ =
E 7\/5 5\/5 3\/5 4\/5 »\/fi\ & < Iy /3 - -
= | étween 2+/5 and 6+/5 is: =
E Q1 “*uv S fod . =
: 30 162 L] 160 NS | cWeida 2,618, | o E
= f\{> a_of 2,6,18,...1s =
= S ) =
= +3 +36 9 A\ <> 36 te b ol nd —12 .51 -3 9 =
= A\ DN G.M between —3 and —12 1s: =
E A C U bsd 2lrndl 8 i E
2 2 —2+/2 ﬁm,‘f“éigé Y] D Rt Sl Vol 10 E
= \/_ \/_ S, \/_ G.M between 1 and 8 1s: =
SRy A )
% D C B A Questions | =Ui» - g
E ?%V@gﬂlﬁ'a&[?:q‘ﬁ n kfjd/?d/nu’u/( E
E ta a’ % 4 The general or nth term of a sequence is denoted | 1 §
= by: E
E 16 15 14 13 a= Jva =2n 31 , E
e If a =2n+3,then a= =
E F7J2 0 2§27 Sr/d/ti (ﬁ(ﬁ"—( :QJU{an :a+(n—1)dJ1A.Pu’( P E
§ nth Term Last Term "1?21(?1?1 First Term | Inan AP a =a+(n—-1)d, 1s called: E
g 12 15 10 5 :‘;;.de‘fuy;,:ﬁ 15 2515 4 E
= A.M between 5 and 15 is: =
= a+b a+b a+b . A= In 3 la,Ab - E
E n 3 2 If a,A,bisan A.Pthen A= E
: i = S — =’ e b T AL AL |6 =
%’illlIIIIIIIIIIIIIIIIIIIIIIIiIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII|IIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII%
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Mean Common Proportion Ratio In a G.P, “r” 1s called:
Ratio
arn+1 arn_l al‘n+1 arn—l an - U:’wdﬂu)/ 7
InaG.P, a_ =
G = Juss b3 Lia,G,b S
:j:’\JféiiE; -+ b — b b . w G o
ab ab ab If a,G,bisaG.P,then G =
Q 6 4 9 N | :41;.,!7/3(_}/:.«;3‘(2 81 8 0
Positive geometric mean between 2 and 8 1s:
3n +25 3n + 24 3n +18 3n + 20 efapnda, s =3n+9AP | |,
The nth term of an A.P when a_ . =3n+9:
W
~N\
~AER)
’ O
pakcity.org SUsar 8
‘ vy
(e B892 57
D C B &)\ Questions | =iy & A
(\QQJ AUB=?;U3€¢5”BJ:IA/7
N \~
BNA ANB B UAE Q[ O If A and B are two non-empty sets, then | 1
A AUB=7
NN\ Y “ -
/N\QBVB AmB:‘?yum,:J;»»BmA/l
BUA ANB NA O If A and B are two non-empty overlapping sets, | 2
then ANB="7
;:g’;ft{u;f» uiG’;&CLd; r)tlv"cac:"lé ,-J}L:"MU’ :%l:"LLg(A UB=BUA "&c': B . A u;.‘!”»
Complement © : Associative | Commutative | For any two sets A and B, AUB=BUA s 3
Morgan’s _
of two sets Law Law called:
Law
e | oSS | ) ,,
3’“@’“‘_‘” De. (et el M AUBUCO)=(AUB)LC |
Intersection Muorgan’s Associative | Commutative AUBUC) =(AUB)UC is called:
of Sets Law Law
Law
A°=27A={4},U={1,2,3,4} Ji
(1,2,3,4) (1! ® 12,3 U= i R
If A={4},U={1,2,3,4},then A° =?
U-A=2ixA={1},U={1,2,3} /i
@ (1,3} (1,2) (2,3 WpU=1L2341
If A={1},U={1,2,3},then U-A =7
) (AN B)" A" NB° A° UBS (AUB) =? 7
AUB ANB A" UB° A N B¢ (ANB) =7 S

e LU O L
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5 (R) =232 R ={(4,5),(5,4),(5,6),(6,4)} /I

15,64 14.5,6} 1454 146] = {(4,5),(5.4).(5.6),(6,4)! then domain of R | 9
1S:
G/ (R)=?7%R ={(4,5),(5,4),(5,6),(6,4)} ./
14,5,6] (6} {5} {4} ~((4,5),(5,4),(5,6).(6,4)) then range of R | 10
1S:
(= U1 36 U y-L40)
D L B A Questions | Uiy - Y
;;;Jf f\l{wldwl i J? S :ﬁ;;.l:'M C@l(y?li 3 1
0 atura Subset Set The collection of well-defined objects 1s called:
Numbers Numbers
crtnmen | eopruf | 2O#0E | ertiaf et {1,2,3,4,5,..)
Set of Even Set of el et of T y
Numbers Infesers Natural Whole {1,2,3,4,5,...} is called:
. S Numbers Numbers
N p Q W Qc:.L MLB LJ]J(LJ//(U(JL)I%I(}J.&’ 3
Set of natural ﬁ\m"ﬂiers is denoted by:
; " 1 9
d'.{(,?l,wb/’ , é" &.«:K}fﬁld)ﬂ MK}I&IJ’{
L E1 is! *\,(\»\ & :a.t'M{O,l, 2,3,4,5,...}
Set of Set of Set of Set of : 4
Prime [nteenrs Natural Whole ﬁ@(\f&% 4,5,.. 1s called:
Numbers S Numbers Numbér*s/ [\\
0 N p @ ?ﬁ;.l:‘lg.l‘-(/;wc:.hjfuf:{:.g“éﬂﬁl‘}‘( 5
A A O§£ The set of whole numbers 1s denoted by:
. 1IN
s K5l el L N <
#gj,ﬁ,éé aed e :4.I:'M{2 3,5,7,11,13,17 }
Set of Se_t of Set of Odd . I 6
Rational {2,3,5,7,11,13,17,...} is called:
Integers Numbers
Numbers
U L A Y i el s 2y -
The symbol for Universal Set 1s:
ool Be0 S A f’;ﬂ? ?gJW|Luf;ngJ‘£?L¢fJ@I¢, g
John Venn | Allan Venn | John Kerry Wi(l)ligm Which mathematician first used Venn diagram?
PAQAGA @K@K

1S

STPACLY -1

9|

@
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D C B A Questions | <y Y- Y
(1,0) (0.0) (0.1) (1.1) | . St sl e is Lol "
The co-ordinates of origin are:
2 JUJ}/ » Jﬂg}l ?Q.I:'Uqcu/.l—"lidufc:_u;_ Y gﬁ'}(f(
J §
. Vertical — Horizontal | The perpendicular distance of a point from y-axis -
AX1S ; Origin ; ;
Line Line 1s called:
7 o o JU(};I ?Lrwﬁ_u/,bﬁd:/c..j_ X ?ﬂ{
-3 : § ;
. o . z : > ; _ & E;
Ordinate Abscissa Origin Hon;ontal The perpendicular distance of point from x-axis 1s
Line called:
— P x=11 =
g 4 g 4 | y=2c&, x=12Xx+y=6 4
— For x=1mn2x+y=6, we havey ="?
— ‘) - — . —_ —_—
4 4 , 5 | X ..f.-:..éjy 21025k —¥=05 5
For y=21mn2x—-y=6, we have x =7
?,.?_Vﬂ‘lf(,:ﬁ’ y 4_5Iju':fd/y = C & )sl~
1 ¢ 0 -1 Graph of equation in the formy=chas y co- | ©
ordinate:
/:b . \%\at‘fu/;i X /ﬂ.’l/cc X =a <l
d . 1 el Graph of & quation in the form x =ahas x co- | 7
Variable
ordlna’t[e@
> )
/y%\{é{f(x) dvswed LI X Lf(X)= E 4<x<12,x
(( 2
A\ Z r
Cer
(4,6,810,12} | {6,810} | {4,6,8,10} {2§@F§@}/ x | g
<‘\ 59 (x)= 5,4 <x<12,x, where x 1s a multiple of
| v
ﬁﬂ\*j\/ “2”. The domain of f(x) is:
0 6 N \ifw 5 y:?ﬁu{zx:2uﬁy:3x/ﬁ 0
— %\/ If y=3x,thenfor x=2, we havey ="
(U 36 1,2 3L
D C B A Questions /| «Uis - Y
¢ d;K bﬁé’ﬁ{,o,@f):‘&ﬁ L./vb{ld:fi/d;‘”
5= " 5 ' .
Cartesia:n G = RS <3/ Un YOY', XOX' | 1
Platie Square Irangle Plane A plane consisting of two number lines OX and
OY intersecting at right angle at “O” is called a:
L iR 127 2 -
Ay Secgng” ’ Fil'/S: d’wpud 1 :;‘;.t‘llﬂ/(z,3) A TS0 5
Ordered Ordered Ordered Cartesian | o pair of number (2,3)is called an:
Pair .. . Plane
Pair Pair
(L) (3,0) (2.0) (0.0) S OF S XSS L 2y =6aits |
In the graph of 2x +y =6, the x-intercept is:
W
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D C B A Questions /| =iy - Y
Lo Sozr N 36K p S\l U B SKES 2
=/ & O}{ i Of’ :;:;.L"llg( A AL 51 q
_Bar Histogram Ogive CiifFve When a bar'graph 1S f:onstructed, so that the: area
Diagram of each bar 1s proportional to the number of 1tems

in each group 1s called:

:ﬂa.b%ﬂ%t’/j@d/(f/)bu?)wﬂB&z?’gﬂy‘@/

»...wdi_..w Sl 31" Lyl Th o hioh he middl )
ATl of these Median Mode Mean € summary statlstlc§ which measure the middie
(or centre) of the data 1s called:
bl I S F S od LSS S
Jyf‘du}l Sl 31" bl o 3
Weighted Median Mode Mean If all numbers 1n a set are added together and then
Mean the total is d1v1deq by the number of scores in the
set 1s called: /Q\“
3/5’(.}/'} Lo s n "@ g_dj,l»(_,)d;ﬁdb/;u*;ly‘_f/(f(
; i 0 4
Geometric Yol Median Mads bef];{\m*@e values of data arranged 1in numerical
Mean 1s-called:
(¥ ; . ;
b3l 32 s w» " {\ﬂ\\( :é-dufci-'%'/”k}‘:-‘-:“’uij’ftf( Zzdos
Geometric N —9;“‘9 The score which occurs most often 1n a set of data S
Median Mean d¢ .
Mean 1s called:

, S — K EX + K et X,
J:/JldU)l Jg/;ld/:’ |- N LoolE r-:L-t'MX —. 2 n3
: . o :
Weighted Geometric arthmetic | Mean value | X, +X, + X, +ont X, | 6
Mean Mean ean of b, - S 1s called:
X s Xy seees X
<t H= 1
o
Arilvf;lldb? | Lo " I_JI:/;lJ)"J-l, = ,
thmetic armonic
n
Mean Mean Mode Mean H = . 1s called:
(5
X
. (T WX
besl 2 sl Qs besi Lo e bl X =
b - . o 2w
Y Geometric Weighted Arithmetic | _ Y ok 3
Mean Mean Mean Xw = 1s called:
W
" bosl £x bl bl e bl et T(x, —X) =0 o
Harmonic Geometric | Arithmetic — . .
Mode Mean Mean Mean 2.(x. —X) =0 is one of the properties of:

(U312 3o
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D C B A Questions | Uiy .
N
“ :LJMKJI@JLJI?(ELJJJ[J}U’ZLJJ’/d:e
s 2 e > The tmaber of times each valus appears is | 1
Median Prequency Mode Mean e n}lm er of times each value appears is
called:
Juﬂﬁ:j j JJ,@-@-J; J:gd}ﬁ dj@rd,m :‘;;.t’LlfCﬁﬁuﬂ%ﬁ/ J}ﬁ AJ:J} Jufu“!
Ungrouped Grouped Frequency Periodic The table which gives the frequency of each | 2
Table Table Table Table score 1s called:
(x - X)’ (x — X)? >f(x —X)’ S = X(x=X)’ :%ijw‘-’j/’.djkéj—éﬂmﬁj//{ 3
S = S= S = \ Formula of standard deviation for ungrouped
M Zf n n n _
data 1s:
g_ [¥— X)’ Si= \/ (x - X)? g [Ex— X)’ g [ZX- X)? :‘:—Umweif.’d}?ééﬂrw/ 4
N\ 3t = - \ =t " > Formula of standard deviation for grouped
data 1s:
PAQE QXA SAS
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